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PART _ A
Yhis part consist of two bunches of questions carrying equar weightage of one.Bach bunch cqrnsist of four ob.jective type questions.

Answer aII questions :

I. 1) Contraction of demand is the result of
a) Decrease in the number of conslrmers
b) Increase in the price of goods concerned
c) Increase in the price of other goods
d) Decrease in the income of purchasers

2) which of the following pairs of goods is an example of substitutes ?a) Paper and pen b) Tea and coffee
c) Tea and sugar d) Shirt and pants

3) In the case of an inferior good , the income erasticity
a) Positive b) Zero
c) Irlegative d) Infinite

4) Total utility is maximum when
a) Marginal utility is zero
b) Marginal urility is at highesr poinr
c) Marginal utility is equal to average utility
d) Average utility is maxirnum

of demand is

(W = 1) (wGP 4)
P.T.O.
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5) An isoquant slopes ,{
6) In the short run when
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7) Another narne

8) Under perfect
shape.

.1n:Y.. any 8 Quesrions inweightage of onu .

9. Define Business Economics.

10. What is meant by income elasticity of demand lrI 1. Whar is marginal utility ?

12" Wbat is the meaning of demand forecasting /
1 3. State the factors of producdon.

14. Give the meaning of production function.
15. Define Isoquants.

15. What is accounting cost ?

17. What do you mean by average fixed cosr ?IB. Define marginal revenue.

for average revenrrp nrrrr,^ :)nue curve is .-..-.-_-...-._.-

competition the demand curye has a

tW = 1; (WGp -
PART - B

one or two sentences cach, I:lach c;uestion

4)

(lV = BxI=g) (WGp gx4x1=fl)
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to excer:d I,lach question
.'l [1*'o :

cost

P=4

19' {iiltt" !"i11 t=trt}1" of'distinction between ecorrr-ir}rir..r ;r;,:*.i [irisirrrrss Economics.

20. S*r*< tlr;.' ,-.'.. r-i,[r*rrs to the law of demanrl .

21. Iirrl,r;:' I,r',,.: r'l;rqti<_:ity. How is it calculateil ,,?

22. F-x7*;zrri i!:<. I.rri-, rlf' Equi-marginal utility.

23- l]*-..rrirt'rt;r- r'ril1i.1'pt of 'consumer surpllts." ll.ii"rt ;rtr: ir.r uses ?

24' tr4:I:at;tti.'rrltlrllt't'cnce curves ? State any 3llr{r}urtrr.r\ (,}f indifference curve.

25. fi:*Xrl;rirr Ifri: l.rri, c{, variable proportions.

26. llrf:;:r ;*r.: rli*, f'*ttures of monopoly markrr.i t1T = 6x2=ll) (WGp 6x4xL=4g)

PART *, I}

Ans*'*r' ar;:g I I.lach question carries a weightagr: *l"f,ur :

27 . {'ltliz.r iJ*rr;rrrd. Explain the determinants *l.rjr:l:r;trril. Also state the Iaw of demand.

Zli, I,l.t5ri,*!* tlrr: cc,nomies and dis-eco,omirs t,1":;r.:*L.. 
..

29' Sl;;sr: thr' l*atttres of perfect competiriar:. ilq:w 1:rirr: is determined under perfectLr..lrrt;r'"tilir'i*. (ly =Zx4=g) (WGp = Zx4x4=i2)


